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10.

Calculate each quotient.

56 ) $1881.60 2. 67) $4167.40 3. 18) $1708.20
26 ) $1549.60 5. 80) $2432.00 6. 89) $5900.70
63) $6224.40 8. 81) $4479.30 9.  81) $5783.40

If 95 identical shirts cost $3657.50, how much did each shirt cost?
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Dividing Money (J) Answers

10.

$ 33.60

56 ) $1881.60
—3$1680.00

$201.60
~$168.00

$33.60
—$33.60

$0.00

$ 59.60

26 ) $1549.60
—$1300.00
$249.60
—$234.00
$15.60
—$15.60

$0.00

$ 98.80

63 ) $6224.40
—$5670.00

$554.40
—$504.00

$50.40
—$50.40

$0.00

2.

Calculate each quotient.

$ 62.20

67 ) $4167.40
—$4020.00

$147.40
~$134.00

$13.40
—$13.40

$0.00

$ 30.40

80 ) $2432.00
—$2400.00
$32.00
—$32.00

$0.00

$ 55.30

81) $4479.30
—$4050.00

$429.30
—3$405.00

$24.30
—$24.30

$0.00

6.

$ 94.90

18 ) $1708.20
—81620.00
$88.20
—$72.00
$16.20
—$16.20

$0.00

$ 66.30

89 ) $5900.70
—$5340.00

$560.70
—$534.00

$26.70
—$26.70

$0.00

$ 71.40

81) $5783.40
—$5670.00

$113.40
—$81.00

$32.40
—$32.40

$0.00

If 95 identical shirts cost $3657.50, how much did each shirt cost? $38.50

Math-Drills.com




